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QUESTION 1

An organization wants to enable users with the ability to identify and select text attributes from a picklist of options.
Which Data Cloud feature should help with this use case?

A. Value suggestion

B. Data harmonization

C. Transformation formulas

D. Global picklists

Correct Answer: A

Value suggestion is a Data Cloud feature that allows users to see and select the possible values for a text field when
creating segment filters. Value suggestion can be enabled or disabled for each data model object (DMO) field in the
DMO record home. Value suggestion can help users to identify and select text attributes from a picklist of options,
without having to type or remember the exact values. Value suggestion can also reduce errors and improve data quality

by ensuring consistent and valid values for the segment filters. References: Use Value Suggestions in Segmentation,
Considerations for Selecting Related Attributes

QUESTION 2

Cumulus Financial created a segment called Multiple Investments that contains individuals who have invested in two or
more mutual funds.

The company plans to send an email to this segment regarding a new mutual fund offering, and wants to personalize
the email content with information about each customer\\'s current mutual fund investments.

How should the Data Cloud consultant configure this activation?

A. Include Fund Type equal to "Mutual Fund" as a related attribute. Configure an activation based on the new segment
with no additional attributes.

B. Choose the Multiple Investments segment, choose the Email contact point, add related attribute

C. Fund Name, and add related attribute filter for Fund Type equal to "Mutual Fund".

D. Choose the Multiple Investments segment, choose the Email contact point, and add related attribute Fund Type.

E. Include Fund Name and Fund Type by default for post processing in the target system.

Correct Answer: B

To personalize the email content with information about each customer\\'s current mutual fund investments, the Data
Cloud consultant needs to add related attributes to the activation. Related attributes are additional data fields that can
be sent along with the segment to the target system for personalization or analysis purposes. In this case, the
consultant needs to add the Fund Name attribute, which contains the name of the mutual fund that the customer has
invested in, and apply a filter for Fund Type equal to "Mutual Fund" to ensure that only relevant data is sent. The other

options are not correct because: Including Fund Type equal to "Mutual Fund" as a related attribute is not enough to
personalize the email content. The consultant also needs to include the Fund Name attribute, which contains the



specific name of the mutual fund that the customer has invested in. Adding related attribute Fund Type is not enough to
personalize the email content. The consultant also needs to add the Fund Name attribute, which contains the specific
name of the mutual fund that the customer has invested in, and apply a filter for Fund Type equal to "Mutual Fund" to
ensure that only relevant data is sent. Including Fund Name and Fund Type by default for post processing in the target
system is not a valid option. The consultant needs to add the related attributes and filters during the activation
configuration in Data Cloud, not after the data is sent to the target system. References: Add Related Attributes to an
Activation - Salesforce, Related Attributes in Activation - Salesforce, Prepare for Your Salesforce Data Cloud Consultant
Credential

QUESTION 3

A client wants to bring in loyalty data from a custom object in Salesforce CRM that contains a point balance for accrued
hotel points and airline points within the same record. The client wants to split these point systems into two separate
records for better tracking and processing.

What should a consultant recommend in this scenario?

A. Clone the data source object.

B. Use batch transforms to create a second data lake object.

C. Create a junction object in Salesforce CRM and modify the ingestion strategy.

D. Create a data kit from the data lake object and deploy it to the same Data Cloud org.

Correct Answer: B

Batch transforms are a feature that allows creating new data lake objects based on existing data lake objects and
applying transformations on them. This can be useful for splitting, merging, or reshaping data to fit the data model or
business requirements. In this case, the consultant can use batch transforms to create a second data lake object that
contains only the airline points from the original loyalty data object. The original object can be modified to contain only
the hotel points. This way, the client can have two separate records for each point system and track and process them

accordingly.

References: Batch Transforms, Create a Batch Transform

QUESTION 4

Luxury Retailers created a segment targeting high value customers that it activates through Marketing Cloud for email
communication. The company notices that the activated count is smaller than the segment count.

What is a reason for this?
A. Marketing Cloud activations apply a frequency cap and limit the number of records that can be sent in an activation.

B. Data Cloud enforces the presence of Contact Point for Marketing Cloud activations. If the individual does not have a
related Contact Point, it will not be activated.

C. Marketing Cloud activations automatically suppress individuals who are unengaged and have not opened or clicked
on an email in the last six months.

D. Marketing Cloud activations only activate those individuals that already exist in Marketing Cloud. They do not allow
activation of new records.



Correct Answer: B

Data Cloud requires a Contact Point for Marketing Cloud activations, which is a record that links an individual to an
email address. This ensures that the individual has given consent to receive email communications and that the email
address is valid. If the individual does not have a related Contact Point, they will not be activated in Marketing Cloud.
This may result in a lower activated count than the segment count. References: Data Cloud Activation, Contact Point for
Marketing Cloud

QUESTION 5
Cumulus Financial wants to segregate Salesforce CRM Account data based on Country for its Data Cloud users.
What should the consultant do to accomplish this?

A. Use streaming transforms to filter out Account data based on Country and map to separate data model objects
accordingly.

B. Use the data spaces feature and applying filtering on the Account data lake object based on Country.

C. Use Salesforce sharing rules on the Account object to filter and segregate records based on Country.

D. Use formula fields based on the account Country field to filter incoming records.

Correct Answer: B

Data spaces are a feature that allows Data Cloud users to create subsets of data based on filters and permissions. Data
spaces can be used to segregate data based on different criteria, such as geography, business unit, or product line. In
this case, the consultant can use the data spaces feature and apply filtering on the Account data lake object based on

Country. This way, the Data Cloud users can access only the Account data that belongs to their respective countries.
References: Data Spaces, Create a Data Space

QUESTION 6

When performing segmentation or activation, which time zone is used to publish and refresh data?

A. Time zone specified on the activity at the time of creation

B. Time zone of the user creating the activity

C. Time zone of the Data Cloud Admin user

D. Time zone set by the Salesforce Data Cloud org

Correct Answer: D

The time zone that is used to publish and refresh data when performing segmentation or activation is D. Time zone set
by the Salesforce Data Cloud org. This time zone is the one that is configured in the org settings when Data Cloud is
provisioned, and it applies to all users and activities in Data Cloud. This time zone determines when the segments are
scheduled to refresh and when the activations are scheduled to publish. Therefore, it is important to consider the time

zone difference between the Data Cloud org and the destination systems or channels when planning the segmentation
and activation strategies. References: Salesforce Data Cloud Consultant uide, Segmentation, Activation




QUESTION 7

A user Is not seeing suggested values from newly-modeled data when building a segment.

What is causing this issue?

A. Value suggestion will only return results for the first 50 values of a specific attribute,

B. Value suggestion can only work on direct attributes and not related attributes.

C. Value suggestion requires Data Aware Specialist permissions at a minimum.

D. Value suggestion is still processing and takes up to 24 hours to be available.

Correct Answer: D

The most likely cause of this issue is that value suggestion is still processing and takes up to 24 hours to be available.
Value suggestion is a feature that enables you to see suggested values for data model object (DMO) fields when

creating

segment filters. However, this feature needs to be enabled for each DMO field, and it can take up to 24 hours for the
suggested values to appear after enabling the feature. Therefore, if a user is not seeing suggested values from newly-

modeled data, it could be that the data has not been processed yet by the value suggestion feature.
References:

Use Value Suggestions in Segmentation

QUESTION 8

A consultant wants to build a new audience in Data Cloud.

Which three criteria can the consultant include when building a segment? Choose 3 answers
A. Direct attributes

B. Data stream attributes

C. Calculated Insights

D. Related attributes

E. Streaming insights

Correct Answer: ACD

A segment is a subset of individuals who meet certain criteria based on their attributes and behaviors. A consultant can
use different types of criteria when building a segment in Data Cloud, such as:

Direct attributes: These are attributes that describe the characteristics of an individual, such as name, email, gender,
age, etc. These attributes are stored in the Profile data model object (DMO) and can be used to filter individuals based
on

their profile data.



Calculated Insights: These are insights that perform calculations on data in a data space and store the results in a data
extension. These insights can be used to segment individuals based on metrics or scores derived from their data, such
as

customer lifetime value, churn risk, loyalty tier, etc.

Related attributes: These are attributes that describe the relationships of an individual with other DMOs, such as Email,
Engagement, Order, Product, etc. These attributes can be used to segment individuals based on their interactions or

transactions with different entities, such as email opens, clicks, purchases, etc.

The other two options are not valid criteria for building a segment in Data Cloud. Data stream attributes are attributes
that describe the streaming data that is ingested into Data Cloud from various sources, such as Marketing Cloud,

Commerce Cloud, Service Cloud, etc. These attributes are not directly available for segmentation, but they can be
transformed and stored in data extensions using streaming data transforms. Streaming insights are insights that
analyze

streaming data in real time and trigger actions based on predefined conditions. These insights are not used for
segmentation, but for activation and personalization. References: Create a Segment in Data Cloud, Use Insights in Data
Cloud,

Data Cloud Data Model

QUESTION 9

A customer has a calculated insight about lifetime value.

What does the consultant need to be aware of if the calculated insight.needs to be modified?

A. Mew dimensions can be added.

B. Existing dimensions can be removed.

C. Existing measures can be removed.

D. Mew measures can be added.

Correct Answer: B

A calculated insight is a multidimensional metric that is defined and calculated from data using SQL expressions. A
calculated insight can include dimensions and measures. Dimensions are the fields that are used to group or filter the
data,

such as customer ID, product category, or region. Measures are the fields that are used to perform calculations or
aggregations, such as revenue, quantity, or average order value. A calculated insight can be modified by editing the

SQL

expression or changing the data space. However, the consultant needs to be aware of the following limitations and
considerations when modifying a calculated insight:

Existing dimensions cannot be removed. If a dimension is removed from the SQL expression, the calculated insight will
fail to run and display an error message. This is because the dimension is used to create the primary key for the

calculated insight object, and removing it will cause a conflict with the existing data. Therefore, the correct answer is B.



New dimensions can be added. If a dimension is added to the SQL expression, the calculated insight will run and create
a new field for the dimension in the calculated insight object. However, the consultant should be careful not to add too

many dimensions, as this can affect the performance and usability of the calculated insight.

Existing measures can be removed. If a measure is removed from the SQL expression, the calculated insight will run
and delete the field for the measure from the calculated insight object. However, the consultant should be aware that

removing a measure can affect the existing segments or activations that use the calculated insight.
New measures can be added. If a measure is added to the SQL expression, the calculated insight will run and create a
new field for the measure in the calculated insight object. However, the consultant should be careful not to add too

many

measures, as this can affect the performance and usability of the calculated insight. References: Calculated Insights,
Calculated Insights in a Data Space.

QUESTION 10

How does identity resolution select attributes for unified individuals when there Is conflicting information in the data
model?

A. Creates additional contact points
B. Leverages reconciliation rules
C. Creates additional rulesets

D. Leverages match rules

Correct Answer: B

Identity resolution is the process of creating unified profiles of individuals by matching and merging data from different
sources. When there is conflicting information in the data model, such as different names, addresses, or phone numbers
for the same person, identity resolution leverages reconciliation rules to select the most accurate and complete
attributes for the unified profile. Reconciliation rules are configurable rules that define how to resolve conflicts based on
criteria such as recency, frequency, source priority, or completeness. For example, a reconciliation rule can specify that
the most recent name or the most frequent phone number should be selected for the unified profile. Reconciliation rules
can be applied at the attribute level or the contact point level. References: Identity Resolution, Reconciliation Rules,
Salesforce Data Cloud Exam Questions

QUESTION 11

During discovery, which feature should a consultant highlight for a customer who has multiple data sources and needs
to match and reconcile data about individuals into a single unified profile?

A. Data Cleansing
B. Harmonization
C. Data Consolidation

D. Identity Resolution



Correct Answer: D

Identity resolution is the feature that allows Data Cloud to match and reconcile data about individuals from multiple data
sources into a single unified profile. Identity resolution uses rulesets to define how source profiles are matched and

consolidated based on common attributes, such as name, email, phone, or party identifier. Identity resolution enables
Data Cloud to create a 360-degree view of each customer across different data sources and systems. The other
options

are not the best features to highlight for this customer need because:

Data cleansing is the process of detecting and correcting errors or inconsistencies in data, such as duplicates, missing
values, or invalid formats. Data cleansing can improve the quality and accuracy of data, but it does not match or
reconcile

data across different data sources.

Harmonization is the process of standardizing and transforming data from different sources into a common format and
structure. Harmonization can enable data integration and interoperability, but it does not match or reconcile data across

different data sources.

Data consolidation is the process of combining data from different sources into a single data set or system. Data
consolidation can reduce data redundancy and complexity, but it does not match or reconcile data across different data

sources.
References:

1: Data and Identity in Data Cloud | Salesforce Trailhead,
2: Data Cloud Identiy Resolution | Salesforce Al Research,
3: [Data Cleansing - Salesforce],

4: [Harmonization - Salesforce],

5: [Data Consolidation - Salesforce]

QUESTION 12

A user wants to be able to create a multi-dimensional metric to identify unified individual lifetime value (LTV).

Which sequence of data model object (DMO) joins is necessary within the calculated Insight to enable this calculation?
A. Unified Individual > Unified Link Individual > Sales Order

B. Unified Individual > Individual > Sales Order

C. Sales Order > Individual > Unified Individual

D. Sales Order > Unified Individual

Correct Answer: A



To create a multi-dimensional metric to identify unified individual lifetime value (LTV), the sequence of data model object
(DMO) joins that is necessary within the calculated Insight is Unified Individual > Unified Link Individual > Sales Order.
This is because the Unified Individual DMO represents the unified profile of an individual or entity that is created by
identity resolutionl. The Unified Link Individual DMO represents the link between a unified individual and an individual
from a source system2. The Sales Order DMO represents the sales order information from a source system3. By joining
these three DMOSs, you can calculate the LTV of a unified individual based on the sales order data from different source
systems. The other options are incorrect because they do not join the correct DMOs to enable the LTV calculation.
Option B is incorrect because the Individual DMO represents the source profile of an individual or entity from a source
system, not the unified profile4. Option C is incorrect because the join order is reversed, and you need to start with the
Unified Individual DMO to identify the unified profile. Option D is incorrect because it is missing the Unified Link
Individual DMO, which is needed to link the unified profile with the source profile. References: Unified Individual Data
Model Object, Unified Link Individual Data Model Object, Sales Order Data Model Object, Individual Data Model Object
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